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Exam Date 26/11/2021
Exam Time : 9:00 AM - 10:30 AM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

91213
4298 ?
39 46 80

Ans X 1.93
X 2.99
* 3.140
o 4. 89

Question ID : 65497834961
Status : Answered
Chosen Option : 4

Q.2 Select the number from among the given options that can replace the question mark
(?) in the following series.

2, 4,16, 256, ?

Ans X 1.65336
o 2. 65536
X 3.65000
X 4.65500

Question ID : 65497834945
Status : Answered
Chosen Option : 2

Q.3 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some kites are flights.
All flights are zeppelins.

Conclusions:
1. Some kites are zeppelins.
2. All zeppelins are flights.

Ans X 1.Both the conclusions follow
25 2. None of the conclusions follow
4" 3. Only conclusion 1 follows

& 4. Only conclusion 2 follows

Question ID : 65497834960
Status : Answered
Chosen Option : 3

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.4 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Leaves : Chlorophyll :: Blood : ?
Ans X 1. White blood cells
X 2. Platelets
< 3.Plasma
«# 4. Haemoglobin

Question ID : 65497834965
Status : Answered
Chosen Option : 4

Q.5 Six friends, Prerna, Priyanka, Rahul, Vishal, Tushar and Shruti, are sitting around a
circular table, facing the centre of the table. Priyanka is sitting to the immediate left of
Tushar. Vishal is sitting to the immediate left of Rahul. Prerna is second to the right of
Vishal. Prerna is sitting between Rahul and Shruti. Who is sitting between Prerna and
Vishal?

Ans X 1. Priyanka
«" 2. Rahul
< 3. Shruti
X 4. Tushar

Question ID : 65497834966
Status : Answered
Chosen Option : 2
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Q6 Select the option in which the given figure is embedded (rotation is allowed).

Ans

- >
x 2.
I """-\
i
& 3 \\

W77
x4 W2
77 )
v/

Question ID : 65497834954
Status : Answered
Chosen Option : 3

Q.7 In the following figure, the rectangle represents *strong’, the circle represents *leather’, the triangle represents *bags’,
and the square represents ‘red’.

Select the letter that represents leather bags which are strong but NOT red coloured.
Ans X1 G
o 2. M
X3 K
X4 N

Question ID : 65497834967
Status : Answered
Chosen Option : 2
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Q.8 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

Ans

following figures. How would this paper look when unfolded?
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Question ID : 65497834963
Status : Answered
Chosen Option : 4

Q.9 i, AT &1 aeitar Ui &1 A, Frire Y 3t &) e ofiv et 9 1 Ay, wwur

Ans

P11 8, St 7 Aue &1 ufy 31 fdr &1 Ry 2 7 way 82

71 o
X 2.\
X 3.3

o 4. BB U

Question ID : 65497834949
Status : Answered
Chosen Option : 4

Q.10 Select the combination of letters that when sequentially placed in the blanks of the

Ans

given series will complete the series.

_r_ks__ck_urc_su_c_

X 1.coucrs krk
o 2.ucurskrk
X 3.c,u,c 8,1,k s,k
X 4.u,cou ks, rk

Question ID : 65497834956
Status : Answered
Chosen Option : 2
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Q.11 A soap costs ¥7 and a pen costs ¥5. Rajesh spent ¥38 and purchased both the things.
What was the number of soaps he purchased?

Ans X 1.2
X 25
o 3.4
X 4.3

Question ID : 65497834962
Status : Answered
Chosen Option : 3

Q.12 Select the option that is related to the third number in the same way as the second
number is related to the first number.

132:501::2364: 2
Ans  # 1.5073
75 2.4582
75 3.9430
X 4.3474

Question ID : 65497834951
Status : Answered
Chosen Option : 1

Q.13 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

HSI, OLO, VEU, CXA, ?
Ans X 1.KPG
X 2. JPF
< 3.KQF
o 4.JQG

Question ID : 65497834964
Status : Answered
Chosen Option : 4

Q.14 In a certain code language, TRICKY is written as CXLFQH. How will PICNIC be written
in that language?

Ans X 1. YOFOOL
& 2. YOFQOL
% 3. YOEOOL
X 4. YOEQOL

Question ID : 65497834948
Status : Answered
Chosen Option : 2
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Q.15 Select the figure from among the given options that can replace the question mark (?) in the following series.

AxX=] Xx=A| =AX 2
Ans

X1 | =xA

X2 | A=xX

3| Ax=

X4 | xXA=

Question ID : 65497834958

Status : Answered

Chosen Option : 3

Q.16 Select the number from among the given options that can replace the question mark
(?) in the following series.

2,3,4,56,7,8,?,10,13,12,17, 14
Ans X 1.9
X212
X 3.10
& 4. 11

Question ID : 65497834957

Status : Answered

Chosen Option : 4

Q.17 Select the correct option that indicates the arrangement of the given words in a logical
and meaningful order.

i. Ammonification
ii. Denitrification

iii. Nitrogen fixation
iv. Assimilation

v. Nitrification

Ans o 1L v v,

25 2.v, iy, v, i
< 3., v, i, v, i
25 4. v, iy v,y i

Question ID : 65497834955

Status : Not Answered

Chosen Option : --
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Q.18 A box is made by folding the given sheet. In the box so formed, which face will be opposite to the face having . ?
'S
v
®
L]
Ans
AR
X2 | ¢
X3 | @
< 4

Question ID: 65497834953
Status : Answered
Chosen Option : 1

Q.19 Eight persons are sitting in a circle facing the centre. Arush is sitting opposite to Rita.
There are two persons sitting between Rakesh and Arush. Ankita is sitting towards the
right of Arush and opposite to Urvashi. Anu is sitting between Rita and Urvashi. Ankita
is sitting between Rohan and Rakesh. Aman is sitting towards the left of Rohan. Who
is sitting between Arush and Urvashi?

Ans X 1.Anu
% 2. Ankita
" 3. Aman
& 4. Rohan

Question ID : 65497834950
Status : Answered
Chosen Option : 3

Q.20 If the signs ‘+’ and ‘=’ are interchanged and the digits ‘2’ and ‘4’ are interchanged, then
what will be the value of the following expression?

426 + 648 — 312

Ans X 1.124
X 2.224
X 3.424
o 4.244

Question ID : 65497834952
Status : Answered
Chosen Option : 4
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Q.21 Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P
GRSZEQ |

a

Ans

X1 J3IX8RY
x2D3IZ8YUD
X3 0D358149
v+ 0DIX8AD

Question ID : 65497834946
Status : Answered
Chosen Option : 4

Q.22 In a certain code language, TAPE is written as EPAT and LOVE is written as EVOL.
How will NITIN be written in the same language?

Ans X 1.TINNI
< 2. ITNNI
2< 3. INNTI
& 4. NITIN

Question ID : 65497834944
Status : Answered
Chosen Option : 4

Q.23 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

CGRT : DJWA :: XUKM : ?
Ans X 1.YXQT

X 2. YYPT
o 3. YXPT
X 4.vvQr

Question ID : 65497834947
Status : Answered
Chosen Option : 3

Q.24 In a certain code language, 'the light house' is written as 'zu chi pin’, 'house is big' is
written as 'mo tim zu', and 'the big garden’ is written as 'riz tim pin'. How will "light’ be
written in that language?

Ans . 1.chi
& 2.mo
X 3.riz
X 4. big

Question ID : 65497834959
Status : Answered
Chosen Option : 1
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Q.25 Five letters have been given, out of which four are alike in some manner and one is
different. Select the letter that is different.

A,D,I,P,R
Ans X 1.P
X 2.D
3.
X 4.R

Question ID : 65497834943
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness

Q.1 T aTe o1 T Ry @S 3 S AfRmE a1 wee B goll ger ok 3%
farita wraf Qa1d ueH &7 # Weg HRar !

Ans X 1.9 ST (Commercial banking)
o 2. o ofd (Investment banking)
7 3. 1 {99 (Corporate finance)
X 4. T35 3@ (Private equity)

Question ID : 65497834974
Status : Answered
Chosen Option : 1

Q.2 Wwﬁmﬁﬁqﬁ@aﬁﬁhﬁwﬁmmﬁmaﬁ%m%ﬁéﬂ
@aﬁ?%wﬁamg@ﬁaﬂﬁmmaﬁaﬁmﬁwﬂim Asa A
ST T Y12

Ans o 1. FAUM (Rl RIEH) ifdfa, 1992
X 2. 93U (@iegar axive) ififam, 1962
X 3. Ifaum (Fgar a=iyE) SHfAaH, 1964
X 4. 93y (ewRar axiem) sififaw, 1994

Question ID : 65497834977
Status : Not Answered
Chosen Option : --

Q.3 Who among the following is the author of the book ‘Night of the Restless Spirits:
Stories from 1984°?

Ans X 1. Khushwant Singh
«" 2. Sarbpreet Singh
25 3. Vinay Sitapati
X 4. Chetan Bhagat

Question ID : 65497834972
Status : Answered
Chosen Option : 2
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Q.4 Dendron and axon are parts of the:
Ans X 1.excretory system

< 2. digestive system
X 3. muscular system

¥ 4. nervous system

Question ID : 65497834981
Status : Not Answered
Chosen Option : --

Q.5 In which of the following states is Murlen National Park located?
Ans X 1. Tripura

& 2. Nagaland
" 3. Mizoram
< 4. Assam

Question ID : 65497834969
Status : Answered
Chosen Option : 4

Q.6 In which year was the first cotton mill at Bombay in India set up as a spinning mill?

Ans X 1.1852
X 2.1853
o 3.1854
X 4.1851

Question ID : 65497834984
Status : Answered
Chosen Option : 2

Q.7 RIfR AR 99 7 YR F IFTFar $F HIET1 S S S5 @ 1875 9 Ll
RiTTT Y A

Ans X 1. gf$T THIREEH
X 2. 3 TS
X 3. 5% 3fear TR
o 4. STSTT AR

Question ID : 65497834975
Status : Answered
Chosen Option : 3

Q.8 T § @ o9 9 e 99 WeR 3 iRvar 18 22
Ans X 1. 9f3uM & Gared

X 2. fafea wfgum
o 3. THCH! [aeTRieT
X 4. TR WMIR

Question ID : 65497834989
Status : Answered
Chosen Option : 4
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Q.9 Which state does the India’s woman cricketer Smriti Mandhana hail from?

Ans o 1. Maharashtra
< 2. Gujarat

#< 3. Bihar

X 4.Goa

Question ID : 65497834968
Status : Answered
Chosen Option : 4

Q.10 Sports Minister Kiren Rijiju has launched which edition of the Fit India School Week in
January 20217

Ans X 1.4th
o 2.2nd
X 3. 6th
X 4. 1st

Question ID : 65497834973
Status : Not Answered
Chosen Option : ==

Q.1 FrafafEd & @ fFa aRfie WRET dE® B IR Yea™ & A A o7 o 8, R
HegTeH WY # IU=UTY for@?

Ans X 1. THP UICaHe
X 2. UvgdeH ferd
o 3. 3 gewe 93k
X 4. TS AT ARR

Question ID : 65497834987
Status : Not Answered
Chosen Option : --

Q.12 TX2 |, 2022 TP gfrar & ShTelt P W DI GHHT H & e v fagaamdt
wfas 81

Ans X 1 gIfEn
X 2.3
< 3.dgsh
o 4. ST

Question ID : 65497834985
Status : Answered
Chosen Option : 2

Q.13 yaat Te@t F fmior & Ry frw Iemam Seare &1 SuaiT e wimar 82
Ans 1. 3T

X 2. PNy

X 3. @[

X 4.DH

Question ID : 65497834983
Status : Answered
Chosen Option : 4
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Q.14 In economics, what is the full form of GNP?
Ans X 1. Gross Natural Produce

" 2. Gross National Product
#< 3. Great National Produce
< 4. Gross Natural Product

Question ID : 65497834986
Status : Answered
Chosen Option : 2

Q.15 In which of the following states is Sirohi /Shirui National Park located?
Ans X 1. West Bengal

75 2. Assam
" 3. Manipur
< 4. Odisha

Question ID : 65497834971
Status : Answered
Chosen Option : 1

Q.16 Charminar, a popular monument and mosque, is located in:
Ans X 1.Delhi

¥ 2. Hyderabad
< 3. Chennai
#< 4. Mumbai

Question ID : 65497834979
Status : Answered
Chosen Option : 2

Q.17 YR ® UYH TN HAAE (cow cabinet) Bt RITYAT FHuferiEd o & fra woa # 91 7 82
Ans X 1 IORIH

X 2. WU
o 3. T U
X 4. TR

Question ID : 65497834978
Status : Not Answered
Chosen Option : --

Q.18 In which of the following states is the ‘International Cherry Blossom Festival’
celebrated annually?

Ans X 1.Punjab
#< 2. Himachal Pradesh
«# 3. Meghalaya
#< 4. Uttarakhand

Question ID : 65497834970
Status : Answered
Chosen Option : 3
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Q.19 T, 9k TSI TdaHTe & WHHTR SeR-Uidw fown § gedt @ iR frzears ¥

&Y qTHTAT B Bl gl
Ans 1. Hdgel
o 2. 919
X 3.9
7 4.3dt
Question ID : 65497834991
Status : Answered
Chosen Option : 2
Q.20 wRfean oY te AR frdber Tga sfas & quffa g1
Ans o 1. IEEIESIE
7 2. 33U et
7< 3. SATER A1 g
X 4. aAES
Question ID: 65497834992
Status : Answered
Chaosen Option : 1
Q.21 2020 ¥ died BIR Staret faE fFafafea # @ g vy grT Ry farar mare
Ans X 1. IR 3R IR AT
o 2. T T
7< 3. HId Ty
X 4. Y T
Question ID : 65497834990
Status : Answered
Chosen Option : 2
Q.22 ToT (TFTT) I BT WY AT IRR & 5 7 & fra urr & 82
Ans X 1. 3y
7 2. 3@
o 3. Tl
X 4.5Hg
Question ID : 65497834980
Status : Answered
Chosen Option : 3
Q.23 YRAY S ATSTHd U= STHT TR BT Ufa=Id TPl $ U H WA €, Tg TPl
I SIS AT BT YITAH B & fore &t ot @ it fopdy oft fo1 99 @ 99 fRrepreq o
Jhd gl
Ans X 1.5
o 2. 15
X 3.20
< 4.10
Question ID : 65497834988
Status : Answered
Chosen Option : 3
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Q.24 Who is the author of the book ‘The Rule Breakers’?
Ans X 1. Satyarth Nayak

" 2. Preeti Shenoy
X 3. Bibek Debroy
< 4. Amitav Ghosh

Question ID : 65497834982
Status : Not Answered
Chosen Option : --

Q.25 Which of the following events was led by Sardar Vallabhbhai Patel?
Ans X 1.Dandi March

" 2. Bardoli Satyagraha
X 3. Chittagong Armoury Raid
< 4. Kakori Conspiracy

Question ID : 65497834976
Status : Answered
Chosen Option : 2

Section : Part C Elementary Mathematics

Q@1 A man walks 600 m in 5 minutes. His speed (in km/h) is:

Ans  X1. 5.6 km/h
2 72 km
X3 3.8 kmh
X4 4.6 km'h

Question ID : 65497835006
Status : Answered
Chosen Option : 2

Q.2 The radii of the bases of a cylinder and a cone arein the ratio of 4 : 3 and their heights are in the ratio of 1 : 2. Find the
ratio of their volumes.

Ans  X'1.3:8
xR 245
3 8:3
K454

Question ID : 65497835011
Status : Answered
Chosen Option : 3

Q.3 Inan election between two candidates, 82% of voters cast their votes, out of which 4% were found to be invalid. The
winning candidate got 108240 votes which are 55% of the valid votes. What was the total number of voters who cast
their votes in this election?

Ans  X1. 250000
« 2. 205000
< 3. 200500
X 4. 200000

Question ID : 65497835008
Status : Answered
Chosen Option : 2
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Q.4 If T denotes the sum of money, M denotes the number of years, P denotes the rate of interest (interest is compounded

annually), then the compound interest is given by:

Ans @1 T(1+P/1000M -T

X2 T(1+P/100)M

X3 M(1+T/100)° -T

X4 M(1+M/100)°

Question ID : 65497835004
Status : Answered
Chosen Option : 2

Q.5 A car runs 40 minutes at a speed of 45 ki/h, next 45 minutes at a speed of 60 km/h and 1 i hours at a speed of 50 knvh.

The average speed (in km/h) of the car for the whole journey is closest to:

Ans X 1. 52.8
x23523
X3 519
4 514

Question ID : 65497835016
Status : Answered
Chosen Option : 4

Q.6  The list price of an article is T576. It is sold by allowing 20% discount on the list price. If its cost price is T480, then

what will be the profit/loss percentage?

Ans X 1. Loss, 2%
X 2. Profit, 4%
X 3. Profit, 2%
« 4. Loss, 4%

Question ID : 65497835013
Status : Answered
Chosen Option : 4

Q7 The value of [17'4+ (8 — 5) X 5]+(25 — 48 =+ 6 + 12 X 2) is:

Ans s 1. 73
X2 37
X3 27
x4 122

Question ID : 65497834998
Status : Answered
Chosen Option : 1
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Q.8 What is the smallest number which when added to 5 is exactly divisible by 15, 20 and 21?
Ans X1 420

2 415

X 3. 425
X4 210

Question ID : 65497835007
Status : Answered
Chosen Option : 2

Q.9 tw HUT B WA AT TheAl i dlerar e g1 afy s T g¥ 10% @R &, e o
TF Tergly 3muR 9T $r S # v 9w freT 23,872 #r &, a1 For Fr afdr (2 ) G
#

Ans 1. 7,500
X 2. 6,500
v 6,720
x4 7,744

Question ID : 65497834996
Status : Answered
Chosen Option : 3

Q.10 TH TG F 18% F @A T AT AT AR 38 TEG F 12,475 AOH H G=0 A1, A 12% F
M 9o gl 3G W BT Jqew (3TH) A9 fisw

Ans 1. 6,765
K2 1275
x3 8,250
x4 8,000

Question ID : 65497834995
Status : Answered
Chosen Option : 1

QM 12x + 7yQ4x —Y3y::8: 3, thenx: y is:
Ans  X1. 45:38
X2 22:37
3. 45:26
X4 24:43

Question ID : 65497835003
Status : Answered
Chosen Option : 3
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Q.12 The radii of two circles are 21 cm and 25 cm, respectively. What is the area (in cm? ) of the circle whose circumference

is equal to difference of the circumference of the two given circles? (Use T= ?) correct to one decimal place.

Ans X' 1. 49.7
X2 48.9
3. 50.3
X4 523

Question ID : 65497834994
Status : Answered
Chosen Option : 3

Q.13 The smallest number to which when 18 is added, the number is exactly divisible by 28, 36 and 45, is:
Ans 1. 1242

X2 280

X 3. 1000

X4 518

Question ID : 65497835001
Status : Answered
Chosen Option : 1

Q14 Ap article is purchased for T425 and sold for T500. The gain percentage is closest to:

Ans X' 1. 18.6%
2. 17.65%
X 3. 16.56%
X 4. 18%

Question ID : 65497834999
Status : Answered
Chosen Option : 2

Q.15 The average of 26 numbers is 54.5. The average of the first 15 numbers is 58.6 and that of the last 12 numbers is 52. If

the 15™ number is excluded, the average of the remaining numbers will be:

Ans X 1. 57.28
X2 4924
3. 53.24
X 4. 50.56

Question ID : 65497835012
Status : Answered
Chosen Option : 3

Q.16 Find the compound interest on T8,500 in 2 years at 6% per annum, interest being compounded half-yearly.

Ans 1. T1,066.82
X2 39968.72
X3 T1,050.25
x4 %1,025.75

Question ID : 65497835010
Status : Answered
Chosen Option : 1
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Q.17 A, B and C together can complete a work in 8 days. If A is 50% more efficient than B and B is 50% efficient than C,
then B alone will complete the same work in:

Ans X 1. 16 days
X 2. 24 days
X 3. 48 days
« 4. 36 days

Question ID : 65497835015
Status : Answered
Chosen Option : 4

Q.18 A man sold z of his articles at a gain of 15% and the remaining at cost price. Find the gain earned by him in the whole
transaction.

Ans 3
K%

1
2 125%

2
X3 155%

X4 7%

Question ID : 65497835017
Status : Answered
Chosen Option : 2

Q19 v gFEER 31,800 T F Tl W 15% # ge 3K 71,800 § 4 H @lg W 17.5% Te
&1 IVOT FIAT §1 Hege 28 T U HT X T 225 97 AW 230 Ui oA H1 T F 4 T A
TlEar §1 gy SEW s A A i A Hiw

Ans X1 ¥1,580
x2 1,684
~< 3 1,540
v 4 31,584

Question ID : 65497834997
Status : Answered
Chosen Option : 4

Q.20 The ratio of three numbers is 3 : 2 : 5 and the sum of their squares is 8550. Find the sum of the numbers.

Ans 1. 150
x2 172
X3 225
X475

Question ID : 65497835009
Status : Answered
Chosen Option : 1
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Q.21
{i} + 8- (?) — (3 — 5 — 4) isequal to
Ans X 1. 24
2 14
X3 42
X4 35

Question ID : 65497835005
Status : Answered
Chosen Option : 2

Q.22 Ram, who is half as efficient as Krish, will take 12 days to complete a task if he works alone. If Ram and Krish work
together, how long will they take to complete the task?

Ans X 1. 2 days
« 2. 4 days
X 3. 6 days
X 4. 8 days

Question ID : 65497835000
Status : Answered
Chosen Option : 2

Q.23 Inaschool total student are only boys and girls. The ratio of boys and girls in a school is 5 : 8. Which of the following
could be the total number of students in the school?

Ans X1, 2100
X 2. 1800
<3 2700
« 4. 1690

Question ID : 65497834993
Status : Answered
Chosen Option : 4

Q24 The mean of the first 7 odd prime numbers (correct to two decimal places) is:
Ans X' 1. 7.34

X2 1235

« 3 10.71

X4 1245

Question ID : 65497835002
Status : Answered
Chosen Option : 3
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Q.25 A, B and C are three numbers. A is 40% less than B and B is 15% less than C. If C is 50% more than D, then A will be

less than D by:
Ans 1. 23.5%
< 2. 10.75%
X 3. 18.5%
X4 24.25%

Question ID : 65497835014
Status : Answered
Chosen Option : 1

Section : Part D English

Q.1 Select the most appropriate option to fill in the blank.
He recovered aftera__illness.

Ans  # 1. prolonged

< 2. stretched

X 3. surprise

< 4. projected

Question ID : 65497835026
Status : Answered

Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

“The players needing_a break and we think it’s time for them to rest,” the coach told
the reporters.
Ans  # 1.need a break

#< 2. No substitution required
< 3. needs a break
75 4. are need a break

Question ID : 65497835019
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate option to fill in the blank.
The book givesa___ account of the horrors of war.
Ans  # 1. graphic
< 2.buky
< 3. heroic
25 4. pleasant

Question ID : 65497835036
Status : Answered

Chosen Option : 1
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Q.4 Select the correctly spelt word.
Ans X 1.Restaraunt

< 2. Millienum
+«" 3. Maintenance
< 4. Refree

Question ID : 65497835030
Status : Answered
Chosen Option : 3

Q.5 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Laughing for about ten minutes / continuous each day / is supposed to be / good for
your health.

Ans X 1. good for your health
< 2. Laughing for about ten minutes
25 3. is supposed to be

«# 4. continuous each day

Question ID : 65497835020
Status : Answered
Chosen Option : 2

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

The art of effective speaking
Ans X 1. Extempore

< 2. Allocation
25 3. Impromptu
4" 4. Elocution

Question ID : 65497835029
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate meaning of the given idiom.

Feel at sea
Ans o 1. To feel lost or confused
< 2. To experience sea for the first time
25 3. To feel exhausted

X 4. To travel always by sea

Question ID : 65497835031
Status : Answered
Chosen Option : 1
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Q.8 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

She just completed the work before her friend came.
Ans X 1. has just completed the work

< 2. just has completed the work
«" 3. had just completed the work

#< 4. No improvement required

Question ID : 65497835024
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to fill in the blank.

Edit and proofread your essay times.
Ans X 1.less

25 2. much
< 3. few

«” 4. several

Question ID :'65497835018
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate ANTONYM of the given word.

Distinctive
Ans X 1. Similarity

#< 2. Common
2< 3. Original
" 4. Close

Question ID : 65497835035
Status : Answered
Chosen Option : 1

Q.11 Select the correctly spelt word.
Ans X 1. Penninsula

¥ 2. Pharmacy
2< 3. Domicille
< 4. Canibal

Question ID : 65497835025
Status : Answered
Chosen Option : 2
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Q.12 Select the most appropriate synonym of the given word.
Facility
Ans X 1.Happiness
< 2. Fitting
o 3. Skill
X 4. Luck

Question ID : 65497835021
Status : Answered
Chosen Option : 1

Q.13 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

The strong wind almost lifted me off my feet.
Ans X 1. above my feet
25 2. over my feet
7% 3. against my feet

4" 4. No improvement required

Question ID :'65497835037
Status : Answered
Chosen Option : 3

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

Not to pay attention to someone or something
Ans 1. Ignore

< 2. Attract
< 3. Rebel
< 4. Argue

Question ID : 65497835023
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the given word.
Guilty
Ans X 1.Sad
< 2. Ignorant
" 3. Innocent
X 4. Clever

Question ID : 65497835028
Status : Answered
Chosen Option : 3
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Q.16 Select the most appropriate synonym of the given word.
Kinship
Ans X 1. Viewership
X 2. Partnership
" 3. Relationship
25 4. Incompatibility

Question ID : 65497835033
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate meaning of the given idiom.

In the same boat

Ans X 1. Sharing a ride
< 2. Having fun
#< 3. To be calm

¥ 4. In a similar situation

Question ID : 65497835022
Status : Answered
Chosen Option : 4

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

A change which is the result of an act or some cause
Ans X 1. Addition

X 2. Affect
" 3. Effect
< 4. Product

Question ID : 65497835034
Status : Answered
Chosen Option : 3

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The road was blocked / so we had / to turn back and / find another one route.
Ans X 1.sowe had
#< 2. to turn back and
#< 3. The road was blocked

«# 4. find another one route

Question ID : 65497835032
Status : Answered
Chosen Option : 4
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Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Has the situation / been favourable, / | would have / attended the marriage.
Ans X 1. been favourable

& 2.1 would have
" 3. Has the situation
#< 4. attended the marriage

Question ID : 65497835027
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 25 1.when

#< 2. that
& 3. which
< 4. where

Question ID : 65497835039
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.none

o 2. some
< 3. much

& 4. any

Question ID : 65497835040
Status : Answered
Chosen Option : 2
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Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.
< 1. adventure

< 2. passage
#< 3. visit
o 4. journey

Question ID : 65497835041
Status : Answered
Chosen Option : 2

Q.24
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.
5 1. practical

/< 2. portable
o 3. poss ble
#5 4. probable

Question ID : 65497835042
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was a cold, wet January day on (1) Tom went back to school. He carried in his
pocket (2) sugar-candies and a doll for little Laura. The (3) was long and
boring. Tom wanted to reach as quickly as (4) . He couldn’t wait to see Laura with the
(5) smile on her face.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

o 1. adorable
< 2. reliable
/< 3. suitable
5 4. capable

Question ID : 65497835043
Status : Answered
Chosen Option : 1

Section : Part D Hindi
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Q.1 %gnqammag YT J1d F ored 31 R g1 AR P IR T8 8, @t =8 IR 7 7
I

Ans

T T A (1)) 3R AP Pe B (2)/ ATAGHAT T © (3) DS e TR (4)

X 1.4
X 23
X 3.2
& 41

Question ID : 65497835050
Status : Not Answered
Chosen Option : --

Q.2 %gmammagmmﬁﬁﬂﬁaﬂizﬁélnﬁﬁézﬁﬂé’f%,a‘r‘ﬁ%ﬁﬁﬂﬁ%’
|

Ans

I 9 P (1) a8 @M (2)\ T @R (3)\ B I TR (4)

X 1.4
x 2.1
3.3
X 4.2

Question ID : 65497835045
Status : Not Answered
Chosen Option : --

Q.3 fyad ®H & gfif & forg Tew Iuge g BT 994 B
g e vy gl

Ans

X 1. g@a
X 2.%8d
o 3.98d
X 4.9d

Question ID : 65497835049
Status : Not Answered
Chosen Option : --

Q4 3T T greaT & oY U wreg -
et 7@ et &-

Ans

X 1. v
X 2. 3
X 3.
o 4. Fd

Question ID : 65497835047
Status : Not Answered
Chosen Option : --
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Q5 3y e aren ¥ YErfea @e & ufawnfia $3 & e wed suge Rea sraga s31
uﬁsﬂz@{wﬁamﬁaﬁmﬁ%ﬁﬁm%mﬁmﬂa%
BT I DY

ot 9 ESISR gl
Ans X 1 GaRIHR GBI
X 2 URE g @
X 3. 93 3R g@H it
4. 4l 9cara 3 axadhdl el 8

Question ID : 65497835044
Status : Not Answered
Chosen Option : —

Q.6 fag g weg o1 w91
&R
Ans X 1 fd&R
X 2. &R
X 3.FER
4. &R

Question ID : 65497835051
Status : Not Answered

Chosen Option : —
T—
Q.7 I faweu o1 997 Y St 3 geray &1 we o sraa wwar 81
Heot /T @
Ans X 1 gRard fearn
o 2. B3] dId HEDR GeDbH
< 3. T YR
7< 4. 3T U A
Question ID : 65497835048
Status : Not Answered
Chosen Option : —
—
Q8 g § A o9 § g A vafgerh e Ry e §2
Ans X 1. 9O - WY
2.3 - T
< 3. 1YY - T SHRA
X 4 PR -G
Question ID : 65497835062
Status : Not Answered
Chosen Option : —
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Q9 ¥ ¥R F &30 &1 gr T F e ve v em-
Ans X 1 @Ugt

& 2. DI

7 3. SitarH

X 4. S|

Question ID : 65497835063
Status : Not Answered
Chosen Option : —

Q.10 3 71 2reg 1 fadm o1
ey
Ans X 1. fidier
o 2. Midd
X 3.9
X 4T

Question ID : 65497835055
Status : Not Answered
Chosen Option ' —

———

Q.11 3 7 a1y ¥ Rarfra o &1 ufawnfia #3= & e vad Suged e o1 99751
U AR P AU A Rpar 1
Ans X 1. g
X 2. PHd

& 3.1
X 4.dd

Question ID : 65497835059
Status : Not Answered
Chosen Option : —

Q.12 39 Rreeq o1 997 oY 5 Fia geray &1 wet o arad sear 21

faw e
Ans X 1. BIY BT
X 2.1 ugaHl
3. 59U a1 BT
X 4. I3 DI TR Sl

Question ID : 65497835056
Status : Not Answered
Chosen Option : —
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Q13 3 77T Wz BT AN weg Fra A A S A E R
e
Ans X 1 3ffdbad
X 2Rz
& 3yd
X 4. E

Question ID : 65497835046
Status : Not Answered
Chosen Option : —

Q.14 FE T aTel g BT 997 Y|
Ans p 1 fagl

X 2 fagfy

x 3. digt

X 4 fagdt

Question ID : 65497835054
Status : Not Answered
Chosen Option ' —

———

Q.15 3R[E 3= BT UgAIL-
&/ MaR B/ Raroh & wry / a9 2
Ans X 18"
2 TREMH
X 3. @R @
X 4. faamh & 9y

Question ID : 65497835061
Status : Not Answered
Chosen Option : —

Q.16 fyga wr &t Uit & frg et Iuged =g &1 999 BY-
ECE @ A 5wt oft @ e @t e A 4
Ans 1 5d
X2 @9
X399
Xads

Question ID : 65497835058
Status : Not Answered
Chosen Option : —
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Q.17 3 Ry are # Rea-wm 91 (i & forg 9ed Suged W= ST ¥

g Bt FRtwha g

Ans X 1. DsD3leC

X 2. FRE
X 3. RWIge
o 4. GG
Question ID : 65497835057
Status : Not Answered
Chosen Option : —
Q.18 HE T aTel ek HT 9 DY
Ans X 1. 3UiidAD
2. HAIAD
X 3. AAfAD
X 4. 3idD
Question ID : 65497835053
Status : Not Answered
Chosen Option ' —
— ——
Q.19 3 7 ream & Y e weg SRR
il B8 @9 B A &
Ans X 1. 3qdl
< 2. sifqeadt
o 3. e
< 4. Sicgendt
Question ID : 65497835052
Status : Not Answered
Chosen Option : —
— =
Q.20 gupTd ¥ 3@ & AR B oraw & Sl 21
g W & WM R 3fa v fafee-
Ans X 1. FREISHS
X 2. 9gd @iax
3. Y@l
X 4. PRI

Question ID : 65497835060
Status : Not Answered
Chosen Option : —
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Comprehension:

fog e T @ $9 ek gel fau U § 1 afia usl # i S & fau ged Sugad fade
P IgT BRI

Hig 7 D1 39 (1) D1 didd o, o/ A (2) & HRY A B (3) # (4)
Bl ST 81 Al & HRUT AR A1 |R HAE P (5) I¢ Wl gl

SubQuestion No : 21

Q.21 T & Y ®IF (1) ¥ fore waifie Sugea weg -
Ans  p | Tl

X 2. @

X 3. uffa

X 4.9%d

Chosen Option : —

Question ID : 65497835065
Status : Not Answered

Comprehension:

Ru e T A A $9 ek gel U T ¥ 1 Tafid ust # udd o b Ry Ged Sugad Rded
P19 BRI

g 7 &1 39 (1) D1 giad o, /g 79 (2) & HRU A B (3) # )
Bl 9T 81 Hig & PRUI gHRT A1 IR FHA FI (5) EASINIE]

SubQuestion No : 22

Q.22 ey & Y R (2) & fore waifue Suge W= gm-
Ans 1 uH

X 2.9al

X 3. fagzmr

X 4.TD1

Chosen Option : —

Question ID : 65497835066
Status : Not Answered

Comprehension:

T 1T e H @ $© ek gl AU MY | Waltla vl 7 Udd TN & oY Yed Jugdd fadbed
BT 98 DR

g T B 39 (1) D1 daD o, olaH 79 (2) P PRUTI P (3) 7 (4)
Bl ST 81 Hig & HRUTGHR A1 |R HHE P (5) I¢ Sl gl

SubQuestion No : 23
Q.23 e & fYaa R (3) % fore waifue Suge o= gm-
Ans X 1.SFH
X2.gH
3. UgarH
X 4. U

Chosen Option : —

Question ID : 65497835067
Status : Not Answered
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Comprehension:

fog e T @ $9 ek gel fau U § 1 afia usl # i S & fau ged Sugad fade
P IgT BRI

Hig 7 D1 39 (1) D1 didd o, o/ A (2) & HRY A B (3) # (4)
Bl ST 81 Al & HRUT AR A1 |R HAE P (5) I¢ Wl gl

SubQuestion No : 24
Q.24 T & Y I (4) ¥ fore waifie Sugea wse -
Ans X 1 fAgo
2. 3amd
X 3. Higad
X 4. faaw

Question ID : 65497835068
Status : Not Answered
Chosen Option : —

Comprehension:

Ru e T A A $9 ek gel U T ¥ 1 Tafid ust # udd o b Ry Ged Sugad Rded
P19 BRI

g 7 &1 39 (1) D1 giad o, /g 79 (2) & HRU A B (3) # )
Bl 9T 81 Hig & PRUI gHRT A1 IR FHA FI (5) EASINIE]

SubQuestion No : 25
Q.25 ey & e ®IT (5) & forg watfue Iuge =g Em-
Ans X 1_11@21

2. RO
X 3.9
X4

Question ID : 65497835069
Status : Not Answered
Chosen Option : —
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